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Converting from Scientific Notation Name:
Rewrite each problem in standard form. Answers
1) 4.84162815 x 10°
1.
2) 28x10!
2.
0
3) 936x10
3.
4) 38x 10"
4,
5) 7.80753972 x 10°
5.
6) 250734642 x 10°
6.
7) 24261647 x 10°
7.
8) 4.44x10°
8.
9) 473x10*
9.
10) .08 x 107
10.
11) 823762188 x 10°
11.
12) 62x10°
12.
13) 6.61x10°
13.
14) 9.99 x 10°
14.
15) 475471 % 10°
15.
16) 1x10°
16.
17) 4.4 x 102
17.
18) 808 x 107
18.
19) g91x 107
19.
20) 1.90851 x 10°
20.
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ﬂh Converting from Scientific Notation Name: Answer Key

Rewrite each problem in standard form. Answers
1) 484162815 x 10° . 484162815
2) 28x10 , o8
3) 936x10° 2 9.36
4 38x 10! . 33

5 6
) 7.80753972 x 10 . 7807530.72

6 « 108
) 2.50734642 x 10 . 250,734,642

7 « 10%
) 24261647 x 10 , 24.261.647

8) x 10°
4.44 % 10 . 4.44
9) x 10"
473 % 10 o 47,300
10 < 102
) 60810 10. 608

11 « 10°
) 8.23762188 x 10 11 823,762,188

12) 62x10°

12. 6,200
13) g61x 10 5 6.61
14) 9.99 x 10 14 999
15) 475471 x 10° s 475471
16) 1x10° 16, 1,000
17) 4.4 x 107 . 440
18) gogx10* 18, 0.808
19) go1x10* 10, 0.891
20) 190851 x 10 20, 1.90851
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